
 

Scanner Accesibility 
Option Type C5502 (D647)



 

 

  1.Scanner Accesibility Option Type C5502 (D647).  2 

 Parts Index ..............................................................  5 

 

Scanner Accesibility Option Type C5502 (D647) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 
CONTENTS 

January 10, 2012 



2 

 

1.Scanner Accesibility Option Type C5502 (D647) 

1

2

3

101 102 103

4

104 105 106 107 108 109 110 111 7 8 9

10 11 112 12

15

113

17 18

14

19 20 21

22

16

13

5

6

 



3 

 1 D144 1342  Cover:Upper:Rear:Option 1 

 2 D144 1345  Cover:Upper:Right:Option 1 

 3 D647 1826  Cover:Option:Scanner:Rear:Ig 1 

 4 D647 5235  Harness:Scanner:Separation:NA:Ass'y 1 

 4 D647 5236  Harness:Scanner:Separation:EU:Ass'y 1 

 5 D647 1348  Cover:Front Right:Scanner:Separation 1 

 6 D647 1090  Bracket:Cover:Left:Scanner 1 

 7 D647 1370  Cap:DIA17:Idg 3 

 8 G570 1540  Rubber Foot H=10 3 

 9 G570 1543  Spacer - Adjusting Screw 2 

 10 AA14 3829  Adjusting Screw:Scanner 2 

 11 AA14 3842  Screw:DIA6:14.5:M4 1 

 12 B223 1824  Seal:Scanner:Frame:Base 1 

 13 B862 1242  Stopper:Hinge:Right 1 

 14 B838 1822  Bracket:Cover:Left Lower 1 

 15 D647 8441  Cover:Ferrite Core:Option:Ass'y 1 

 16 D009 1822  Bracket:Option:Right 1 

 17 B838 1823  Bracket:Cover:Rear Lower 1 

 18 B838 1261  Bracket:Key Counter:Rear 2 

 19 B838 1269  Bracket:Left Rear:Option 1 

 20 B838 1832  Shielding Plate:Base:1 1 

 21 B838 1833  Shielding Plate:Base:2 1 

 22 B862 1241  Stopper:Hinge:Left 1 

 

 

 

 

 

 

 

 

 

 

 

 101 0451 3008N Tapping Screw - M3x8  

 102 0451 3006N Tapping Screw - 3x6  

 103 0451 4008N Tapping Screw:4x8  

 104 0451 4016N Tapping Screw:4x16  

 105 0450 3008N Tapping Screw - M3x8  

 106 0453 3006N Tapping Screw - M3x6  

 107 0454 3006Q Tapping Screw - M3x6  

 108 0954 4008N Screw - M4X8  

 109 1105 0428  Clamp  

 110 1105 0488  Harness Clamp  

 111 1105 0521  Clamp - LES-1017  

 112 1607 0622  Ferrite Core Tfc16816  

 112 1607 1460  Ferrite Core:Rfc-9  

 112 1607 1461  Ferrite Core  

 112 1607 1461  Ferrite Core  

 112 1607 1715  Ferrite Core - Rfc-5  

 112 1607 1929  Ferrite Core:Tfcm-41-27-16  

 113 1005 0503  Clamp Wire  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

1.Scanner Accesibility Option Type C5502 (D647) 



 

 

Parts Index 



6 

D647 1090  Bracket:Cover:Left:Scanner   3 -   6 

D647 1348  Cover:Front Right:Scanner:Separation   3 -   5 

D647 1370  Cap:DIA17:Idg   3 -   7 

D647 1826  Cover:Option:Scanner:Rear:Ig   3 -   3 

D647 5235  Harness:Scanner:Separation:NA:Ass'y   3 -   4 

D647 5236  Harness:Scanner:Separation:EU:Ass'y   3 -   4 

D647 8441  Cover:Ferrite Core:Option:Ass'y   3 -  15 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

B223 1824  Seal:Scanner:Frame:Base   3 -  12 

B838 1261  Bracket:Key Counter:Rear   3 -  18 

B838 1269  Bracket:Left Rear:Option   3 -  19 

B838 1822  Bracket:Cover:Left Lower   3 -  14 

B838 1823  Bracket:Cover:Rear Lower   3 -  17 

B838 1832  Shielding Plate:Base:1   3 -  20 

B838 1833  Shielding Plate:Base:2   3 -  21 

B862 1241  Stopper:Hinge:Left   3 -  22 

B862 1242  Stopper:Hinge:Right   3 -  13 

D009 1822  Bracket:Option:Right   3 -  16 

D144 1342  Cover:Upper:Rear:Option   3 -   1 

D144 1345  Cover:Upper:Right:Option   3 -   2 

G570 1540  Rubber Foot H=10   3 -   8 

G570 1543  Spacer - Adjusting Screw   3 -   9 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 



7 

AA14 3829  Adjusting Screw:Scanner   3 -  10 

AA14 3842  Screw:DIA6:14.5:M4   3 -  11 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

0450 3008N Tapping Screw - M3x8   3 - 105 

0451 3006N Tapping Screw - 3x6   3 - 102 

0451 3008N Tapping Screw - M3x8   3 - 101 

0451 4008N Tapping Screw:4x8   3 - 103 

0451 4016N Tapping Screw:4x16   3 - 104 

0453 3006N Tapping Screw - M3x6   3 - 106 

0454 3006Q Tapping Screw - M3x6   3 - 107 

0954 4008N Screw - M4X8   3 - 108 

1005 0503  Clamp Wire   3 - 113 

1105 0428  Clamp   3 - 109 

1105 0488  Harness Clamp   3 - 110 

1105 0521  Clamp - LES-1017   3 - 111 

1607 0622  Ferrite Core Tfc16816   3 - 112 

1607 1460  Ferrite Core:Rfc-9   3 - 112 

1607 1461  Ferrite Core   3 - 112 

1607 1461  Ferrite Core   3 - 112 

1607 1715  Ferrite Core - Rfc-5   3 - 112 

1607 1929  Ferrite Core:Tfcm-41-27-16   3 - 112 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 


	1.Scanner Accesibility Option Type C5502 (D647)
	Parts Index

